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BACHELOR’'S DEGREE PROGRAMME

Term-End Examination

June, 2016 - .
00232
ELECTIVE COURSE : ECONOMICS

EEC-06 : PATTERNS OF ECONOMIC
DEVELOPMENT : A COMPARATIVE STUDY

Time : 3 hours Maximum Marks : 100
(Weightage : 70%)

Note : Attempt questions from each section as per instructions.

SECTION - A

Answer any two questions in about 500 words
each : 2x20=40

1.  Explain the concept of triangular pattern of trade.
How did Britain benefit from this kind of trade ?

2. Describe the salient features of economic and
political structures of Japan during the Tokugawa
era.

3. Critically examine the Marx’s theory of
development. In what way is Rostow’s theory of
development different from Marx's ?

4. What do you wunderstand by the
“Gold Standard” ? Why did the working of the
Gold Standard create an asymmetry in global
production and international trade in 1920s ?
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SECTION - B

Answer any three questions in about 250 words
each : 3x10=30

5. Discuss the ‘Dependency thesis’ as discussed by
Latin American economists.

6.  Critically analyse the reasons behind the relative
decline of Britain’s industrial hegemony and the
rise of competing nations.

7. Discuss the various forms of state intervention in
Japan following the Meiji Restoration.

8. Define different stages of economic growth in
Rostow’s model.

9.  Explain the concept of modern economic growth.
SECTION - C
Attempt all the questions in this section as
directed.
10. Write short notes on any three in about 100 words
each : 3x5=15

(a) Technological dualism
(b) Surplus production

(c) Economic development
(d) Scissors crisis

(e) Import - substitution

11. Briefly define any three of the following : 3x5=15
(a) Devaluation
(b) Multinational companies
(c) Monopolistic capitalism
(d) Cheap money policy
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